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2. drkp g 9,430 9,430 0
RRmEA IR E) 600 600 0
4. FFAPA TS 291 291 0
5.[Z 13T A S A A7 A 1,624 0 1,624
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1. dwka=gu] 1,624 0 1,624 ;‘1 BAIF)&FRPAA © 500,00082 1,000,000
(;ngg—%)&&%%?&ﬂ] ©62,40090%10 624,000
3.8t Je 4,800 1,800 3,000
1.3 w3 91384 800 800 0
LIx]gad s 800 800 0
1. LR 3x1H] 800 800 0
2.3 gy 4,000 1,000 3,000
1. [z 329 3,840 840 3,000
1.9 Rk=8-] 840 840 0
2. 35| 2,900 0 2,900 gi?i_z—%)%%ol%%md + 2,000,000 2,000,000
(BEA_2F)EFTY ¢ 500,0009+13]= 500,000
(g 25374 ¢ 200,0009%2%= 400,000
3. B A A o T3 v] 100 0 100 ifixj—zér)%g@g%7 F#1 : 100,00041 100,000
2. [Z]FgF RS 160 160 0
1.95% 160 160 0
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